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Form the following two different
appearances of dice find out the
number which is opposite to 'S’
T AOT-STE WE % UTH SO & 3
o § 5% faufla =9 ot den s

p) >
5 3 Cle
(a)2 (b)3
(c) 4 (d)6

Little wooden cubes each with a
side of one inch are put together
to form a solid cube with a side
of three inches. This big cube is
then painted red all over on the
outside. When the big cube is
broken up into the original little
ones, how many cubes will have
paint on two sides?

THE T UF B =T FG6H TAF a0
139 F 3T F 50 % WY T
% 39 UFR 92 T H U aEd gaw
1 el T W O S @ T 92w A
Frfas B 9m § drg o 9w € A

T it Hew foas 3 gae @ gl 22
(a)4 (b) 8
(c) 12 (d)0

Two positions of a cube are
given. Based on them find out
which number is found opposite

E EXERCISE-III

number 1 in the given cube. » “,

o 1 4 2 e e & 5 )

A 19 Fada wen A A )

1 2 “
L)
(a) 1 %fﬁ:l;

(c)3 {f)”\ 4

Two pos t{'{ﬂné 6f a cubical block
are given below, each face having
a number of small triangles. In
another position of the cube, it
there i1s one triangle at the
bottom, how many triangle will
be there on the top face?

uF =T wt oar feafae e st mE
yE waE W Be-sr fiye fd W g
¥ H g fefa # w1 % freed g9
WUk YT § T S G W

3

MJ |

fassit =t dem saEe?
§d

(a) 4 (b) 3

c) 2 (d)5

Choose from the four answer
figures, the figure that will be
formed when the question figure
1s folded into a box.

fed 74 fom W =R fawed a1 & wE
3 ™ o3 w ow< oS ot A o

% g5l aeh wEs | O S # diel e
U G O M
(a) 4 (b) 8

(c) 12 (d) 16
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8. Three positions of a dice are
given below. Identify the number
on the face opposite to 6.
wF UN F i feafaal @ A
af 6 % fauila wae ® Hem =aet?
(b) 4

3 3 7
6 |§ 5 g 5 @
(c) 5 ) 6

(a) 1
9. A solid cube ifﬁmches has been
painted R’!Q‘gﬁz:\(}jé‘%n, and Black

on pair ofiopposite faces. It has

§ HHE-F T T been_cut'into one inch cubes.
- How _ v cubes have only one
"Z“f%cﬁ\;p inted that too only red?
o '_ % =R E F1 3 T o, T AR w
_ Ao T # R fawd wael woan s @ At
Answer Figures Yy o) TEEE 1 ¥ e e foren W @ e
B> @ SN Fae ol U1 G W gag Al v
e\ (@) 4 (b) 8
* %%
(a) (b) €y’ /d) (c) 16 (d) 24
. ‘é . . . . 10. A solid cube of 4 inches has been
In a 30]1d§ E{fthh is made painted red, green and black on
np 01? 2?; ; 11 cujbes, two pair of opposite faces. It has
opposit \Sld are painted red, been cut into one inch cubes.
twr 1) éﬁ{yel]ow and the other How many cubes have only one
th;‘V&ri' white. How many cubes face painted?
;’"\\i‘;e two colours? UF 4 9 H S T @, B AN Fe
(T BBk 27 T | s €1 | faqdid Hds 9T G o @ g 9 1
e # @ faufia wae o I | 9t S | F A T fo o E O U 6w
< S T ¥ ol gwd @ wwe § o W g A e Sy
Wt & & W F W O # g san? (a) 4 (b) 8
(a) 8 (b) 12 (c) 16 (d) 24
(c) 16 (d)24 11. Position of Dices is given below:
In a solid cube made up of 27 Identify tlf_le number when top 1s
small cubes, two opposite sides 5 what will be A bottom?
are painted red, two opposite o g feafaal A9 G g € ww arn
sides yellow and two other sides fomat ol wae W 52 9 T fraet
white. How many small cubes A T F4 9 5 Bni?
have the colours yellow and
white alone in them?
T 39 5F Hl Bie-sE 27 = 9§ fiyes c e
T S #1 3 fawda e o o g :a]]4 :d;Q
ot o &, ok @ fadia o el @ s iy :
5 12. Which number appear in the

face opposite to the face with
number 4?

fe3r 73 ol W 4 & fawde wem = U
GUIELY
Ezz1
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13.

/6 /1 /27 18. A solid red coloured cube is (a) 6 (b) 5
painted yellow on all sides. The (c) 3 (d 1
cube is cut into 125 equal

()l (b) 2

(c)3 (d) 5

Study the following figures and
find out the number opposite to
3.

fed mu fom =t fA0aw =@ gu 3 F

cubes. How many sides will
have 3 sides yellow?
TF S o I F T F 9 gas F
diet o1 F T W € Ak mE ¥ 125
T O HE S § q9 9 dielt gawl
T T B OEEA FaRd?

23.

Two positions of a dice are
given. Which number would be
at the top when bottom is 2?
TF Tae #1 9 e suid v € af
et Tae W 22 F W F T e
T HEAdl SaEd?

fortia e Jawe? (2) 10 (b) 4 5>
Nalala B gy
. . 19. How many cubes are there in
I:E.\:IG (bJ 4 this figure? (a] [b]
(c) S (d) 2 fet T o A e S Hen womn? (a4 "1
14. Study the following figures and ~—~
find out the number opposite to = (c) 5 5
2 24. Four différen p051t10ns of a

15,

16.

feg mu fom = g FW gL 2 F

dice are azs fehown below. What

farfta dem sary? luﬁlber} opposite to face 3?
3 3 SET7 (a) 69 (b) 180 m = feorfeei =1 A= et T

(c) 144 (d) 84 g}‘? Saﬁﬁqﬁﬁwaﬁmmv

(a)1 (b 4 20. How many cubes are unseen 3

(c)S (d) 6

A dice is thrown four times and
its four different positions are
given below. Find the number
on the face opposite the face
showing 2.

TF U Fi AR a7 Hehl 51 B AR An
feufera srem-arem ot & St e < W
2 79 2 % faudla dem wmEe?

PR

()4 (b) 5

(c) 6 (d) 3
Form the following two d]ffenéﬁ
appearance of a dice Wh&b
number lies to the oppoﬁﬁ

(=2) g0y

{N&J (d) 15

21fk our positions of dice are given

Ce ‘below. Which letter will be
opposite to D?

F 9 F an fefad F gwim T @
&3 T uEi § D % faoda s =0 e

Questions Figures:

25.

(@) 4 [b] 3

(c) 2 (d)6

A cube which is painted red on
the outer surface is of 2 inches
height, 2 inches wide and 2
inches across. If it is cut into
one-inch cubes as shown by
dotted lines,
number of cubes which are red
on two sides only?

Ush 59 i ﬁmﬁ aredl |ag 2 9 S,
2 F7 =St qen @ €W une & e I9
mmﬁwaﬁﬂ%mﬁmﬂ 139
F T R FRI A ¢ o e e o
<@ T 99 S O e W " G

in the figure? ,,é 6 h
ﬁﬁwfﬂﬁgﬂ@{waﬂ&“ y

indicate the

TF T Ft Ft frafaar = mﬁ%m B ] HEA FaE
S o S <IFESIEIRS T TR S
T 2 % fowlia g Wit orel || &8l || leal || &ye
«\} @ (b () (d)
2 SO () B (b)C
()1 ) 4 (c) D (d)A o
(c) 6 (d) 5 22. Three positions of a dice are (a) 4 - (b) 6
17. How many cubes are there in given. Find out which number () 8 d 0

222!
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this diagram?
fed ™ fa3 § fead =@ 22

is found opposite the number 2
in the given cube.

uw A I dF feufie gwiE T E A
TR ° 2 % fauie gem # i aaen?

26.

Three views of the same cube
are given. All the faces of the
cube are numbered from 1 to
6. Select one figure which will

[
— result when the cube 1is
@ 6 @ unfolded.
(210 b8 Qg s o A fee 4 & o )
(c) 16 (d) 12 a (b © Tt W F 1 ¥ 67 * dean i
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27.

28.

29:

30.
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T & T Eed W A E § s n-
TS
Questions Figures:

P EP|67)

4] E G 4
ra BB (3] i8]
B L
EH [ e
fa) (B) fc )

Which of the following cubes
can be created by folding the
given figure?

fad T fom ) Hew P A A wE W
o A S HFAl 27

Questions Figure:

A

| & (o] il

Answer Figures:

G| )|

(a) (b) (e) (d)

From the given blocks when 10
is at the bottom, which number
will be at the top?

feu T wATE T WE et wae 10 £ ar
T TAE T BT T e

1) 57

(a) 8 (b) 12
(c)6 (d)4

31.

32.

33.

L%

P 69 (7
(a) 4 (b) 5
(c) 3 (d) 1

If the difference between the
no. of dots on the opposite faces
is 3. Find out the figure which
is correct?

ofg fawia ol # fages &1 o= o
% o HE IW S FaEy?

Answer Figures:

GP|0| 7|1
(a) (b) (c) (d)

Four positions of a dice are
given below. Identify the
number at the bottom when top

is 6.

afg ok = F oA feafe = A=
i T # AR S §We W 6%3‘;,/3
e 9 9oe & Hem sl

A

Qu estions Flgures

[a] 1
(c) 4
Four p

1&0&13 of a dice are
i Z

; w. Identify the

nuﬁg:ﬁt the bottom when the
J;-Iﬁm\ber on the top is 2.

f‘;ﬁﬁ“‘@‘ ud H AR feafei w0 oA

et T AR T # T waE W

How many cubes are there inﬁggp"‘"\ 2 @ @ fraet TaE W e aaE?
N\ 5
]

group?

mﬁwﬁﬂﬁm@@?{g‘“}

(a)20 (b) 10

(c)16 (d) 18

Study the 3 different positions
of a cube given below and
answer what number comes
opposite to 2?

TF o9 F1 = feafaa =t 9= zefen
214 2 # faufm FE- g amift?

34.

% L
(a) 3 (b) 5
(c) 4 (d)6
Four positions of a dice are
given below. Identify the
number at the bottom when the

number on the top is 2.
et T € A% TR # S W W
2 @t fr=elt a8 W HEw aaEy?

PYPE

(a) 6 (b) 3
c) 4 (d) S
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35.

36.

3.

38.

Two positions of a dice are
shown below. When the heart
shape 1s at the top what will
be at the bottom?

uF I & A feafast w1 i et T
% ofz 7 f et F UER ST O9e ™
2 fa=el e 9T == e

Question Figures:
O <
< ¥

Answer Figures:

(a) 3k /@0
Y

() O

Choose itlfeetibe which will be
formed_ '%é’“folding the given
quﬁ%‘tiq@, figure.

T el g T SEIA W

T FE T GRS I aaE?

2K

Answer Figures:

v/ J\a#

(a) (b) (e} (d)
Few cubes are arranged as
shown in the figure. How many
cubes are unseen?
#® T T faa § st faen T d @
U U AT i HEAT g2

(a) 8 (b) 10
(c) 12 (d) 14
The sides of a cube show the
colours of

positions of the cube are shown
below. Which of the colours of

rainbow is left out?

UF TF HI WdE R TEUgE ® WA
Tyifan s & fogd < fearfr = e
i % @ 9 F 9l gde W e &
ETE iUl ¥

1 B

| [=]5

rainbow. Two

Ezzs
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39.

40.

41

42.

224i
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(a) Yellow /dier

(b) Green /&1

(c) Violet /<t

(d) Indigo/ s

Based on the diagrams which
letter is opposite to A?

o o amenfia A & faoda s1em =1

/B [ES

D

(B b C

() D (dE

Which colour is opposite to
purple?

I G F faada w0 oW 2

Questions Figures:

Yellow Green Biue
u

le

:{:’l.xf]::ie5 5 %
&fié’ O‘é‘*’g Bue| £ (|Red 5

(a)Blue/sfren (b} Orange
/At

(c) Red /=1 (d) Green/®T
Choose the cube that will be
formed by folding the sheet a

paper shown in the problem
figure.

aEfa § uE wE O gt T

Question Figure:

43.

44.

m “Iuim

(1) @) (@) (iv)

(a) (i) and (iii) only

(b) (1), (i11) and (1v) only

(c) (1) and (1v) only

(d) (1) and (iv) only

If a paper 1s folded as shown in
figure to form a cube, then the
pairs of opposite faces are:

T2f W FIS i WIEHL TF TEE F
w9 ¥ S9iEr S € df $9 faudd 9uE
ERIB P

Question Figure:

tffe estﬂ1d so formed by joining

r\l}xu{ cubes 1s rotated to obtain

L ﬁfferent positions, which of

O]
lololale
Bl
Answer Figures: ; :;
S
g

(a) (b) N (@)
The figure giv il.}.»\-gn the left

hand sidé i1s folded to form a
both K@&E from the
alternatives (1), (2), (3) and (4)
the boxes that similar to the
box formed.

d= fgu oMo fam F wE wE | SAT
AEf = O = 2, 9 AR A srEa
T 2, @ S 9 fRad wuA el
A ?

45.

these cannot be the shape after
it has turned?

fafa=1 =Mt 1 faemst T S S
TAA S § T AR T S-S
featfe W B € @t sw feufa =y
qaEt S 39 SE ATHR W Tl = ST

ekl T
(a) % (b) %
_) (d) ;

(<)

The following figure is folded to

46.

—

=l 2"\, Mé
1+[O]+] /

yay

) « \‘
Answer Figures: j‘{ \ ";‘,{,9
+AND A| [+ ANDO | [AAND @ [FAND -
+AND o | |+ avDo| |#anD - [laanD &
oAND | |a AND adf| vvpo | [oanD o
L
% ()

AT

48.

49.
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form a block. Which symbol will
appear on the oppsite of triangle

TF TH Hl EeR W A 8 T foafa
o B & @A Bis # ol wE W
e &

%
[@]a]x] O]

[
(@ @ b) *
(c) O (d m

Three positi nv_:‘“f')f a cube are
shown hat will come

op osx‘é;tﬁo« the face containing

y)mm’taﬁﬂﬁ-vxﬁmmws%i
faz '$' % fawlia werF W FH-T
mﬁ%m?

o4 A +
$ * " * & *
(@) % ) &
() A @ +

Three position of a cube are
shown below. What will come
opposite to face containing '5'?
H= T BA T A feefaa s T €
3% '5' & faudia wew W RE-W 3w
sram?

3 5 1
5 8 4 . 2 3
(&) 1 (b) 3
(c) 4 (d 6

Position of Dices 1s given below:

Identify the number when top
is 5 what will be at bottom?

4w w F ot feufr <ok w8
# 7fz 3% '5' TR F voOF W, @
fraell els 9 HHE-|1 3F HEW?

()6 (b) 3
(c) 4 (d) 2
Four positions of a dice are
given below. Identify the
number at the bottom when top

is 6.

www.spardha.guru



4w = # fafae feafai 2o
21 afE 5% '6' $W H Faad WA,
et Weld W BA-W S MY

PWYEH

(a)l (b) 3

(c)4 (d) S

Three positions of a cube are
shown below. What will come
opposite to the face containing
b

= uE e F A fufer guiz © #
il g ‘o % Il e W RA-E

S50.

G o e | D

Y B o
¥ [51¥ [0
(a) P (b] &
(c) m (d) ©

51. Three positions of a cube are
shown below. Which symbol will

come on two faces marked '1
and 2'?

= ug F A9 feofa guiz ® #)
FA-¥ wdfs fog 1 @ 2 sifEa
FAFR F T T IET?

1. @ | 7. @ 13. (c)
2 (¢) | 8 (v 14. (c)
3. (€) | 9 (b) 15. (b)
4. (b) 10. (d) 16. (b)
5. (b) 11. (c) 17. (d)
6. (b) 12. (a) 18. (c)
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52.

S53.

19.
20.
21.
22.

24.

(a) 8and 8 (b) « and B
(c) 8 and B (d) 6 and y
Three positions of a cube are

shown below. What will come
opposite to face containing 'N'?

= = w7 1 9 feafe w0 2
Hae 'N' % fauld $osw 9 RA-E
A& AEM?

{NL?) [RF‘! Iz\g
(a) P (b) Q
(c) S (d) Z

Two positions of a cube are
shown below. what will come

opposite to face containing '5'?
= T W w9 feafai zeiz
Wi fag ' & faudia word W FA-|1
AL FE?

3 p :
“~ . /Qx)gi?;
'y b |
@ & (b) ,9);3)@3

(c) por @

(3
\%%ptions, which
ormed by folding

. From the

figure c
the fig

n the question?

ANSWER KEYS
(Exercise-III)

(c) || 25. (d) 31. (d) 37.
(a) | 26. (d) 32. (a) 38.
@ & 27. (b) 33. (b) 39.
@@ | 28 (b) 34. (d) 40.
@ | 29 (a) 35. (c) 41
(@) 30. (b) 36. (b) 42.

A

(b)
(c)
(d)
(b)

. (a)

(b)

1|6
2
3115
4
1 i
@513 ®[3]3
6 ; 1
@ (31278
AN
55. Which d¢fithe following cube in

&1

ﬂ‘ﬁ:-ér figure cannot be

sed on the unfolded
the question figure?

IW A A W I WA

o mu yww amEfa F ge oW 9 9w
:,.} TE S weFar?

=l @b (@)
pAg
" 68 » @B
0 6w @3
43. (¢) | 49. (a) 54. (a)
4. (c) | 50. (b) 55. (b)
45. (¢) | 51. (0
46. (b) || 52. (%
47. (a) | 53. (d)
48. (b)
'|225
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